DIAGONALI  PARALLELEPIPEDO

A=lunghezza

B=larghezza

C=altezza

D=(( A + B + C )

A=((D – ( B + C )(
B=((D ( ( B + C )(
CUBO

D =(( L + L +L )

L =D / (3

A.lat = 4 * Lato    ( ((A.lat / 4)

A.tot = 6 * Lato    ( ((A.tot / 6)

V = L

L = (V

AREA PRISMA RETTO

A lat = PP.base ( H

H= A.lat / PP.base

PP.base= A.lat / H

A.tot = A.lat + 2A di base

A.lat = A.tot  ( 2A di base

A base =( A.tot ( A.lat )/2

Volume = A.base ( H

H = Volume / A.Base

A.base = Volume / H

PESO

Peso = P.spec ( Volume                  (g/cm.

P.spec = Peso / Volume                   (kg/dm.

Volume = Peso / P.spec                   (t/m

PIRAMIDE

Apotema = (( H + R )

R = (( Ap ( H )

H = (( Ap ( R )

A.lat = ( Ap ( PP.base ) / 2

PP.base = ( A.lat  ( 2 ) / Ap

Ap = ( A.lat ( 2 ) / PP.base

V = ( A.base (H ) / 3

H = ( V ( 3 ) / A.base

A.base = ( V ( 3 ) / H

CILINDRO

A.lat = Circ. ( H

Circ = A.lat / H

H = A.lat / Circ.

A.tot = A.lat + 2A.base 

A.lat =  A.tot ( 2A.base

A.base = ( A.tot ( A.lat )/2

Circ. = R ( 2(       ( R = Circ. / 2(
Circ. = D ( (         ( D = Circ. / (
A.base o Cerchio = R ( (
R = (( A.base o Cerchio / ( )

